
Answer on Question #69002, Physics / Mechanics | Relativity  
 
Question: 
 
Block A has mass 3.0 kg, block B has mass 2.0 kg, and block C has mass 1.0 kg. The three blocks 
are on a frictionless surface connected with massless string as shown. A force of 12 N is pulling the 
block A to the left. What is the magnitude of the acceleration of block C? 
 
Answer: 

 
Let’s assume that string is massless and non-stretched. 
As total mass of the system is 3+2+1=6kg, its acceleration (According to 2nd Newton’s law) is: 

𝑎𝑎𝑠𝑠𝑠𝑠𝑠𝑠𝑠𝑠𝑠𝑠𝑠𝑠 =
𝐹𝐹

𝑚𝑚𝑠𝑠𝑠𝑠𝑠𝑠𝑠𝑠𝑠𝑠𝑠𝑠
=

12
6

= 2
𝑚𝑚
𝑠𝑠2

; 

𝐴𝐴𝐴𝐴𝐴𝐴𝐴𝐴𝐴𝐴𝐴𝐴𝐴𝐴𝐴𝐴𝐴𝐴𝐴𝐴𝐴𝐴𝐴𝐴 𝑖𝑖𝑖𝑖 𝑡𝑡ℎ𝑒𝑒 𝑠𝑠𝑠𝑠𝑠𝑠𝑠𝑠 𝑓𝑓𝑓𝑓𝑓𝑓 𝑎𝑎𝑎𝑎𝑎𝑎 𝑜𝑜𝑜𝑜 3 𝑏𝑏𝑏𝑏𝑏𝑏𝑏𝑏𝑏𝑏𝑏𝑏, 𝑠𝑠𝑠𝑠 𝑎𝑎𝑎𝑎𝑎𝑎𝑎𝑎𝑎𝑎𝑎𝑎𝑎𝑎𝑎𝑎𝑎𝑎𝑎𝑎𝑎𝑎𝑎𝑎 𝑜𝑜𝑜𝑜 𝑏𝑏𝑏𝑏𝑏𝑏𝑏𝑏𝑏𝑏 𝐶𝐶 𝑖𝑖𝑖𝑖 2 𝑚𝑚/𝑠𝑠2 

𝒂𝒂𝒄𝒄 = 𝟐𝟐
𝒎𝒎
𝒔𝒔𝟐𝟐
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